S5pm

50
50
2.6 g/cm
1.0 g/cm
1.1 < 10 cm/s
2.0 < 10 cm/s
3.1 %< 10 cm/s
4.2 < 10 cm/s
6.3 < 10 cm/s

4pam

7.0 pam
4.4 =< 10
1.8 g/cm

cm/s
5.0



0.3 pm

95 -
0.5pam
- 0.3pam
1.0 < 10 mg/m /cpm
- 0.6pam
1.5 1.0 < 10
26 kPa mg/m /cpm
60 min
0.45 mg
1120
9.6€ /min
1 /min
0.005 mg
4
0.1 mg 14
4.5
5.5
6.5
7.5

8.5



100pam 1

95

3.34 20  26.6°

700

2.65
3.34

10 cm 20 cm



14
16
18
20
22

5.0 mg
0.5 mg
0.3 mg
0.8pam
0.3pm

2.5

10

0.2 mg

0.4 mg

95

0.30
0.45
0.60
0.75
0.90

25 mm

50
5 10
2.3 cm
1 € /min
20
300 pam
50
130
/cm
/cm
/cm
/cm
/cm



